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F Chemical Shift (ppm)

Saturation of S1+S2

—— B,AR + isoproterenol (experimental spectrum)
— No exchange

1000 s

-1
2000 (simulated spectra)

“ 30005
~= 40005
== 4450s"

Control Saturation

420 Hz

=

Saturation

V

t=0

-59.7 -60.0 -60.3 -60.6 -60.9 -612 -61.5 -61.8 -62.1 -62.4 -62.7 -63.0 -63.3

-59.7 -60.0 -60.3 -60.6 -60.9 -61.2 -615 -61.8 -62.1 -62.4 -62.7 -63.0 -63.3

0.050s

-59.7 -60.0 -60.3 -60.6 -60.9 -612 -615 -61.8 -62.1 -62.4 -62.7 -63.0 -63.3

0.100s

-59.7 -60.0 -60.3 -60.6 -60.9 -612 -615 -61.8 -62.1 -62.4 -62.7 -63.0 -63.3

0.200 s

-59.7 -60.0 -60.3 -60.6 -60.9 -612 -615 -61.8 -62.1 -62.4 -62.7 -63.0 -63.3

0300

-59.7 -60.0 -60.3 -60.6 -60.9 -61.2 -615 -61.8 -62.1 -62.4 -62.7 -63.0 -63.3

0.400s

-59.7 -60.0 -60.3 -60.6 -60.9 -612 -615 -61.8 -62.1 -62.4 -62.7 -63.0 -63.3

0.700 s

-59.7 -60.0 -60.3 -60.6 -60.9 -612 -61.5 -61.8 -62.1 -62.4 -62.7 -63.0 -63.3

1.000 s

-59.7 -60.0 -60.3 -60.6 -60.9 -612 -615 -61.8 -62.1 -62.4 -62.7 -63.0 -63.3

F Chemical Shift (ppm)

420 Hz

=

Saturation

'

-59.7 -60.0 -60.3 -60.6 -60.9 -61.2 -61.5 -61.8 -62.1 -62.4 -62.7 -63.0 -63.3

0.025s

-59.7 -60.0 -603 -60.6 -60.9 -61.2 -61.5 -618 -62.1 -624 -62.7 -63.0 -63.3

0.200 s

-59.7 -60.0 -60.3 -60.6 -60.9 -61.2 -6L5 -61.8 -62.1 -62.4 -62.7 -63.0 -63.3

0.400 s A

-59.7 -60.0 -60.3 -60.6 -60.9 -61.2 -615 -61.8 -62.1 -62.4 -62.7 -63.0 -63.3

A

A

1.000 s
Ao, A
-59.7 -60.0 -60.3 -60.6 -60.9 -61.2 -615 -61.8 -62.1 -62.4 -62.7 -63.0 -63.3

F Chemical Shift (ppm)
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